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@ssc CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES |
Q.1 In a certain code language, ‘APRON’ Is :

written as ‘CNTMP’ and ‘EARTH’ Is written as
‘GYTRJ’. How will ‘HEAVY’ be written in that
language?

TS AT T YT H, 'APRON' &I 'CNTMP'
3R 'EARTH B 'GYTRJ' feora@r \‘rrl?lT%I( sl >

Pe HINT H 'HEAVY' &Y forar Smem?

a) JCGUS  b) JGUTA
c)JGCTA  d) JCCTA
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Q.2 Select the option that represents the letters that,
when placed from left to right in the given blanks,
will complete the letter series.
Gﬁﬁﬁaﬁmamnﬁ%mﬁhﬁewmaﬁmmm%ﬁﬁi
oI fqu T o W= # 918 9 1Y @A TR 3

qof g1 STl 81 I

DE WG _EF GDEFU D _FTG

a)FDGVE b)YFDVGE
C)DFFEV d)DFVGF
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Q.3 Select the correct combination of
mathematical signs to replace the * signs and
to balance the given equation.

* gl ® gqaq 8k fT 7 Fefieeo
P31 & foe wfordy gl & 9 |
PIfTT|

34*4*15*51*27*9*40
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Q.4 If 28 February 2017 was Tuesday, then
what was the day of the week on 28
February 20197

gfe 28 BRAIT 2017 Bl HIAAR YT, dl 28
BRI 2019 D1 AWM BT HI AT {7412

Thursday[&dl
3

b)
. https://t.me/Reasoningbymohitsirssc Sa‘t u rd ay/mﬁ.




1000 QUESTION SERIES

Q.5 How many triangles are there In

the given figure?
&€ e A e Pragw 72

\\/

2 . s
B v

b) 26
c) 28
d) 30
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Q.6 Seven friends M, N, O, P, Q, R and S, each has a different
age. Only two people are older than Q. P is older than Q but
younger than O. M is older than R but younger than S. Only
three people are younger than S. N is the youngest among all.
The age of how many persons is between the ages of Q and R?
qGra T M, N, O, P, Q, R 3fiR S, Ul® Bt SA-3ET 3T 8| had
AAROATSEIP, QA TST g Afbd 0 A BICTBI M, R A F&T
gafpI S U BIEIgl A d RIS A BIC 81 N I 4 Tad
BleT 81 Q 3R R Bt MY & JH fha aafaaal &1 3my 82

y 4 O ATTIING S
S\ ) o
b A
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Q.7 Select the correct mirror image of the
given combination when the mirror is placed
at MN as shown.

TGIo- & Tgl gUur yfdfdd &7 Ia9+ B
m%aﬁmmmw%ﬁw%ﬁ

em268q |
N
b8 cwsS

ad8osms
5 PpS8oSms

4 8o ms

b)
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Q.8 If 09 April 2023 is Friday. What will be 30
April 20237

09 U 2023 P YHAR g1 30 AU 2023 HI
oI 91 fe g

a) '\‘:ﬁWIMonday
b) 3{I'[elﬂ'l'\’ISaturday
c) HiTAdR/Tuesday

d) R[PAR/Friday

Y https://t.me/Reasoningbymohitsirssc




Q.9 Which letter-cluster will replace the question mark
(?) to complete the given series?

&t g Y@ B WT FA & forw S 91 M&R-I4g Uy
g (7) 9 ufarfua s 3

XAPE, BIBU, ?, JYZA, NGLQ
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— 7 Q.10 If M denotes ‘-', N denotes '+, O denotes 'x’ and P

denotes '+, then what will come In place of ‘?" In the
following equation?/ afg M &1 314 ' 8, N &1 31 '+' §, O &I
3 'x' g 3R P &7 31 + 7, I, Rafafad gHieu fr > &
BT U HT SHATUEIT? .
(38O 13)N19M27P(3803)P43 M68="7

a)82 b)88 )92  d)90
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\"—/ Q.11 Which of the following numbers will

replace the question mark (?) in the given
series?

frafafaa & 9 #19 @ B &
ﬁu&rﬁmnﬁuﬁwﬁaﬁﬂ

8, 16, 13, ?, 47, 282
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\—>/ Q.12 Which of the following numbers will

replace the question mark (?) in the given
series?

mﬁﬁﬁ?ﬁmﬁﬂémﬁw
g (2) &1 ufawfua s¥fe 2 (: >

199, 211, 196, ?, 193, 217

a) 205 b) 214
c) 207 d) 210
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Q.13 Select the option that is related to the fifth number in
the same way as the second number is related to the first
number and the fourth number is related to the third
number.

39 fapdd &1 9yq Fifow S uradl ¥ @ I teR @
Taftra 8 forT yorR ¥ gl 9T, ugdl |e 9 ok aidt

=T, TS O @ Aefdd gl
19:80::23:96::16: 7

a) 76 b)68
c) 70 d)o62
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sald ” her mother has only one grandchlld whose
mother is my wife “.How is the woman in the picture
related to Jitendra ?

qEIR § Aiger o oR HYd §U, Siid= A gl
wﬁmaﬁ%ﬁw%w%m%gmﬁﬁwﬁ%"l

a9 H Afgar sild= 4 &9 Jafta @

(A) COUSIN

(B) WIFE

(C) SISTER

(D) DATA INADEQUATE

| https://t.me/Reasoningbymohitsirssc




1000 QUESTION SERIES

Q.15 Select the Venn diagram that best illustrates
the relationship between the following classes.

a9 NG BT 999 B ol Fgfafad amf & di &
UdY P Jaiad 9 A Qi1 g

Fruit, Apple, Vegetable

d, 9, Tooll
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Q.16 Select the figure from among the given
options that can replace the question mark (?) In
the following series.

feu o fawedl # I I IMPHfd &1 TG99 B <N
frafafed g # uyarae s (?) @t
B TPl |
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Q.17 A paper is folded and cut as shown. How
will it appear when unfolded?

ﬁaﬂéawﬁﬁﬁwaﬁmwmm
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Q.18 The second number in the given number pairs is obtained by

performing certain mathematical operation(s) on the first number.
The same operation(s) are followed in all the number pairs,
EXCEPT one. Find that odd number pair.

S Ak  ERMR S S M MR
Aferaraf &7 TR fohaT SiTaT 5 | faus S giH J1d Sifee|
a) 8: 64
D)8 : 512
c) 6: 216
d) 464
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Q.19 A paper is folded and cut as shown below.
How will it appear when unfolded?

TP IS DI A fEE ™ Y & AR
3R HTeT 9dT 3| W IR I &Y fGETs o

(] ] ] ] i
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Q.20 If | denotes ‘+’, J denotes ‘x’, K denotes ‘=’ and
L denotes ‘+’, then what will come in place of “?’ in
the following equation?

gl 1dT3d+ 8 T3t x B KWGRf"%GﬁTL
P ord -+ 3, A P wheo & - f

T ST v
37L 25K (14J2)L (2J 13)K (62131) =7
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THANK YOU
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